
l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd s}lkmot

1 sLlj,cr}nL v]lt lj:tf/ j8f g+= ! 200,000.00

200,000.00

j8f g+= !

1 PDj'n]G; ;+rfng Joj:yfkg j8f g+= ! 400,000.00

2

nlIft ju{ sfo{qmd- dlxnf,hghflt
,jfnaflnsf _ j8f g+= ! 900,000.00

3 blnt sfo{qmd j8f g+= ! 200,000.00

4 ckf+u sfo{qmd j8f g+= ! 200,000.00

5 v]ns'b sfo{qmd j8f g+= ! 200,000.00

6 lzIff j8f g+= ! 500,000.00

7 ;/;kmfO{ ;r]tgf sfo{qmd j8f g+= ! 80,000.00

8 k]s/gf; vfg]kfgL kfO{k vl/b j8f g+= ! 100,000.00

2,580,000.00 v_hDdf

 u_k'jf{wf/ ljsf; sfo{qmd

pdfs'08 ufpFkflnsf
ljlQo ;dfgLs/0f cg'bfg tkm{sf @)&$.&% sf] of]hgf tyf sfo{qmd

j8f g+=!

s_cfly{s ljsf; tkm{

s_ hDdf

v_;fdflhs ljsf; tkm{

1 :jf:Yo rf}sL:t/Ggf]tL j8f g+= ! 500,000.00

2 u'Db]n afDtL ;8s j8f g+= ! 1,900,000.00

3 u'Db]n Nof5]j/ tft] kbdfu{ j8f g+= ! 100,000.00

4 Sofdf :jf:Yo s]Gb| lgdf{0f j8f g+= ! 200,000.00

5 j8f sfof{no ejg lgdf{0f 200,000.00

6 t]l5du'Djf kgMlgdf{0f j8f g+= ! 220,000.00

7 e/h'ª led]:yfg dlGb/ lgdf{0f j8f g+= ! 50,000.00

8 lzj kfj{lt dlGb/ lgdf{0f w'kL j8f g+= ! 200,000.00

9 em/]gL vf]nf sf7]k'n lgdf{0f j8f g+= ! 50,000.00

3,420,000.00

1 HofDbL klx/f] lgoGq0f j8f g+= ! 50,000.00
2 cfkt\sflng sf]if j8f g+= ! 200,000.00

250,000.00

 u_k'jf{wf/ ljsf; sfo{qmd

u_ hDdf
3_jftfj/0f tyf ljkb Joj:yfkg tkm{

 3_ hDdf



1 lhljsf]kfh{g ;+rfng tflnd 50,000.00

50,000.00

6,500,000.00

l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd s}lkmot

0

1 nIfLt ju{ sfo{qmd j8f g+= @ 2,100,000.00

2 v]ns'b cfof]hgf j8f g+= @ 200,000.00

2,300,000.00

1 u'Daf k'gMlgdf{0f j8f g+= @ 200,000.00

2 lzj dlGb/ lgdf{0f j8f g+= @ 300,000.00

3 vfg]kfgL l;rfO{ sfo{qmd j8f g+= @ 1,000,000.00

s_ hDdf

v_;fdflhs ljsf; tkm{

v_hDdf

u_k'jf{wf/ ljsf; sfo{qmd

ª_ hDdf

s_±v_±u_±3_±ª_ s'n hDdf

pdfs'08 ufpFkflnsf
ljlQo ;dfgLs/0f cg'bfg tkm{sf @)&$.&% sf] of]hgf tyf sfo{qmd

j8f g+=@

s_cfly{s ljsf; tkm{

ª_;+:yfut ljsf; tyf ;]jf k|jfx

3 vfg]kfgL l;rfO{ sfo{qmd j8f g+= @ 1,000,000.00

4 b]p/fnL e08f/ uf]/]6f] af6f] dd{t j8f g+= @ 50,000.00

5 uf]/G8f 7f8f]vf]nf af6f] dd{t j8f g+= @ 50,000.00

6 lz4]Zj/ dflj 6LPn;L dd{t j8f g+= @ 200,000.00

7 jfDtL x]Nykf]i6 j8f g+= @ 200,000.00

8 afnljsf; s]Gb| ejg dd{t j8f g+= @ 100,000.00

9
n'j' kfuf /f]zL lnu/d' 7f8f]vf]nf
;8s j8f g+= @ 500,000.00

10 /Tg Hof]lt n'j' ;8s j8f g+= @ 250,000.00

11 ;t/d' lzjhL:yfg /f]zL /fªb ;8s j8f g+= @ 200,000.00
12 bf]v/kf kfuf ;8s j8f g+= @ 200,000.00
13 n'j'xs{6] e08f/ ;8s j8f g+= @ 50,000.00
14 b]p/fnL PsgfuL ;8s j8f g+= @ 50,000.00
15 n'j' jhf/ lz4:yfg 9n lgdf{0f j8f g+= @ 200,000.00
16 nfs'/L e08f/ uf]/]6f] af6f] j8f g+= @ 100,000.00



3,650,000.00

! ljkt Joj:yfkg 50,000.00

50,000.00
0

-

6,000,000.00

l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd s}lkmot

0

1 ko{6g ;+:s[lt If]q j8f g+= # 250,000.00
250,000.00

j8f g+= #

1 lzIff If]q sfo{qmd j8f g+= # 325,000.00

2 h]i7 gfu/Ls  clegGbg sfo{qmd j8f g+= # 100,000.00

3 afnaflnsf If]q sfo{qmd j8f g+= # 75,000.00

4 hfu[t o'jf sNj ejg j8f g+= # 150,000.00

j8f g+=#

s_cfly{s ljsf; tkm{

s_ hDdf

v_;fdflhs ljsf; tkm{

 3_ hDdf
;+:yfut ljsf; tyf ;]jf k|jfx

ª_ hDdf

s_±v_±u_±3_+ ª s'n hDdf

pdfs'08 ufpFkflnsf
ljlQo ;dfgLs/0f cg'bfg tkm{sf @)&$.&% sf] of]hgf tyf sfo{qmd

u_ hDdf

3_jftfj/0f tyf ljkb Joj:yfkg tkm{

4 hfu[t o'jf sNj ejg j8f g+= # 150,000.00

5 o'jf v]ns'b sfo{qmd j8f g+= # 200,000.00

6 ;fd'bflos d]nldnfk s]Gb| Joj:yfkg j8f g+= # 100,000.00

950,000.00

1 k'gf dxfb]j dlGb/ lgdf{0f of]hgf 100,000.00

2
Psfª dlGb/ tyf ;r]tgf ejg dd{t
of]hgf j8f g+= # 75,000.00

3

;fd'bflos ;efxn lgdf{0f -
dlxnf,blnt ,hghflt,ckfu+_ j8f g+= # 600,000.00

4 uf=lj=;=ejg kvf{n lgdf{0f 1,000,000.00

5
sj' ;/:jtL k|f=lj=k'gf uf]Nd]
lg:ynL,vf]nfvs{ ;8s lgdf{0f j8f g+= # 500,000.00

6
s'j',bfl/daf]6],j]nbLª,;]n]n] ';8s
lgdf{0f j8f g+= # 500,000.00

 v_ hDdf

 u_k"jf{wf/ ljsf; tkm{



7

afDtL u}/fdfg] /ldt]
,lr/dfn',u]u/,vf]t',bfl/daf]6 ';8s
lgdf{0f j8f g+= # 350,000.00

8
u}/fdfg],lr/dfn',b/g;f,sf:ynL ;8s
dd{t j8f g+= # 500,000.00

9
Psfª,sf:ynL,lnv',af]n'ª6f/ ;8s
dd{t j8f g+= # 300,000.00

10 kfs'd,lk8fn] ufpF;8s lgdf{0f of]hgf j8f g+= # 250,000.00

11
Psfª,anubL,lk8fn] ufp+;8s dd{t
of]hgf j8f g+= # 200,000.00

12 :jf:Yo If]q of]hgf j8f g+= # 200,000.00

13

k'gf  vkt/L j:g]t s'nk'hf dlGb/
lgdf{0f of]hgf j8f g+= # 100,000.00

14 tLg j6f uf]/]6f] af6f] of]hgf j8f g+= # 150,000.00

4,825,000.00

j8f g+= #

1 cfs:dls ljkt\ j8f sf]if j8f g+= # 75,000.00

75,000.00
-

u_ hDdf

3_jftfj/0f tyf ljkb Joj:yfkg tkm{

 3_ hDdf
ª_;+:yfut ljsf; tyf ;]jf k|jfx

s_±v_±u_±3_±ª_s'n hDdf

-

6,100,000.00

l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd s}lkmot

0
0

j8f g+= $

1 dlxnf sDKo'6/ lzIff j8f g+= $ 200,000.00

2 hghflt l;kd'ns sfo{qmd j8f g+= $ 50,000.00

3 afnaflnsf r]tgfd'ns sfo{qmd j8f g+= $ 50,000.00

4 ckf+u l;kd'ns tflnd  sfo{qmd j8f g+= $ 50,000.00

5 h]i7 gfu/Ls ;Ddfg sfo{qmd j8f g+= $ 50,000.00

6
z}lIfs u'0f:t/ j[4L afnd}qL sIff
;+rfng sDKo'6/ sIff ;+rfng j8f g+= $ 610,000.00

ljlQo ;dfgLs/0f cg'bfg tkm{sf @)&$.&% sf] of]hgf tyf sfo{qmd

j8f g+=$

s_cfly{s ljsf; tkm{
s_ hDdf

v_;fdflhs ljsf; tkm{

ª_;+:yfut ljsf; tyf ;]jf k|jfx

s_±v_±u_±3_±ª_s'n hDdf

pdfs'08 ufpFkflnsf



s_ r08]]Zj/L df=lj
@))))).)) j8f g+= $

v_ ;]ltj]bL cfwf/e't ljBfno
!,!),))).) j8f g+= $

u_ d}bfg] cfwf/e't ljBfno
%),))).)) j8f g+= $

3_ sflnb]jL cf=lj=
%),))).)) j8f g+= $

ª_ P]/fjtL cf=lj=;Nn]   %),))).)) j8f g+= $

r_ tfxgynL cf=lj=   %),))).)) j8f g+= $

5_k|ultlzn cf=lj=    %),))).)) j8f g+= $

r_b]ljZj/ cf=lj=      %),))).)) j8f g+= $

7

;f]nfjg tgL s]/f]8f8f +x'uf+ vfg]kfgL
dd{t lgdf{0f j8f g+= $ 100,000.00

8 lun'jf vfg]kfgL dd{t lgdf{0f j8f g+= $ 100,000.00

9 af]:;f 3n]8f8f+ ;'s'/ vfg]kfgL lgdf{0f j8f g+= $ 100,000.009 af]:;f 3n]8f8f+ ;'s'/ vfg]kfgL lgdf{0f j8f g+= $ 100,000.00

10

vf]/n,t];f]{af6f],8f8f+ufp vfg]kfgL
dd{t lgdf{0f j8f g+= $ 50,000.00

11 e'ne'n] vfg]kfgL jnvL j8f g+= $ 100,000.00

12 tf]s/kfgL vfg]kfgL dd{t lgdf{0f j8f g+= $ 100,000.00

13 ;'O{/] vfg]kfgL u}/L vs{ dd{t lgdf{0f j8f g+= $ 200,000.00

14

l8d? ;'KtL alGbk'/ vfg]kfgL dd{t
lgdf{0f j8f g+= $ 75,000.00

15 d}bfg] vfg]kfgL dd{t lgdf{0f j8f g+= $ 75,000.00

16 nfKrfg] lxn] 3'lj;] vfg]fkgL dd{t j8f g+= $ 100,000.00

17 uh]]r]K6] vfg]kfgL j8f g+= $ 50,000.00

18 ?ª\v] ,lkkm]{ uf]n' vfg]kfgL j8f g+= $ 50,000.00

19 kmf]/dfb]d vfg]kfgL j8f g+= $ 50,000.00

j8f g+= $ 2,160,000.00v_hDdf



1
j8f sfof{no dd{t ;Def/ tyf
Joj:yfkg j8f g+= $ 850,000.00

2 anlv nfkl;u]+ ;8s lgdf{0f j8f g+= $ 500,000.00
3 Rofbn' u}/L vs{ r08L:yfg ;8s j8f g+= $ 600,000.00
4 d}bfg] ;f]nfjg tgL ,x'uf+ ;8s j8f g+= $ 600,000.00
5 ;Nn]kfnf ;8s j8f g+= $ 200,000.00
6 a;]/L ,?ªvL,lkkm]{ ;8s j8f g+= $ 200,000.00
7 3'dL{;],lxn] ;8s j8f g+= $ 150,000.00

8

k'/fgf] ;8s dd{t
Rofbn',lemuf+dnL,r08L:yfg ;8s j8f g+= $ 200,000.00

9 lemuf+dnL,;':n] ;8s j8f g+= $ 130,000.00

10 Rofbn',jnvL ;8s j8f g+= $ 130,000.00

11 l;+u6L d}bfg] ;8s j8f g+= $ 130,000.00

12 Rofbn', 3n]8f8f+,;'s'/ ;8s j8f g+= $ 150,000.00

3,840,000.00

0

0

s_±v_±u_±3_±ª_s'n hDdf

u_k'jf{wf/ ljsf; tkm{

u_ hDdf

3_jftfj/0f tyf ljkb Joj:yfkg tkm{

 3_ hDdf
ª_;+:yfut ljsf; tyf ;]jf k|jfx

ª_ hDdf 0

6,000,000.00

l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd s}lkmot

0
-

j8f g+=%

1

lzIffdf u'0f:t/ afnd}qL sIff
;+rfng sDKo'6/ sIff ;+rfng j8f g+=% 450,000.00

s_ ;/:jtL df=lj
@))))).)) j8f g+=%

v_ sflnb]jL pdf{v' cf lj
!,)),))).) j8f g+=%
u_ lxdu+uf cf= lj=   %),))).)) j8f g+=%

v_;fdflhs ljsf; tkm{

s_±v_±u_±3_±ª_s'n hDdf

pdfs'08 ufpFkflnsf
ljlQo ;dfgLs/0f cg'bfg tkm{sf @)&$.&% sf] of]hgf tyf sfo{qmd

j8f g+=%

s_cfly{s ljsf; tkm{
s_ hDdf

ª_ hDdf



3_ dfg]nx/] cf=lj=
%),))).)) j8f g+=%
ª_ hghfu[lt cf=lj=  %),))).)) j8f g+=%

2 nIfLt ju{ sfo{qmd 400,000.00
s_ dlxnf sDKo'6/ sIff ;+rfng
@,)),))).)) j8f g+=%

v_hghflt l;kd'ns tflnd
%),))).)) j8f g+=%

Uf_ blnt l;kd'ns tflnd
%),))).)) j8f g+=%

3_ ckf+u l;kd'ns tflnd
%),))).)) j8f g+=%

ª_ h]i7 gfu/Ls ;Ddfg sfo{qmd
%),))).)) j8f g+=%

3 ;'O{/]vfnf vfg]kfgL lgdf0f{ j8f g+=% 120,000.00

4 pdf{v',lhb' vfg]kfgL dd{t j8f g+=% 80,000.00

5 ;]ltvf]nf vfg]kfgL dd{t j8f g+=% 50,000.00

1,100,000.00

1 :jf:Yo rf}sL Joj:yfkg j8f g+=% 500,000.00

v_hDdf

u_k"jf{wf/ ljsf; tkm{

1 :jf:Yo rf}sL Joj:yfkg j8f g+=% 500,000.00
2 j8f sfof{no ejg lgdf{0f j8f g+=% 1,650,000.00

3
u}/L und leQ/L,kmflt,lhb',afx'g8f8f
;8s j8f g+=% 300,000.00

4 lzt'wf/f lnv' ;8s j8f g+=% 275,000.00

5
kmfltvf]nf,kfgL3f6,km'd{lbd,8f8f+vs{
;8s j8f g+=% 200,000.00

6 pdf{v',lhb' l;+rfO{ dd{t j8f g+=% 75,000.00
7 vf]nf?,l;p/Laf]6],l;+rfO{ dd{t j8f g+=% 200,000.00
8 n}?,;]tf]kx/f,l;+rfO{ dd{t j8f g+=% 75,000.00
9 n}? sDkm'8f8f+ l;rfO{ dd{t j8f g+=% 50,000.00

10 ;'O{/]vf]nf,emfs|]6f/,l;rfO{ dd{t j8f g+=% 75,000.00

11 ls/ft]Zj/ dxfb]j dlGb/ dd{t j8f g+=% 100,000.00

12 sf]O{rj'' gfu/Ls ;r]tgf s]Gb| dd{t j8f g+=% 50,000.00

13 dxfsfnL b]jL dlGb/ dd{t j8f g+=% 50,000.00



3,600,000.00

1 ljkb\ Joj:yfkg 200,000.00

200,000.00

-

4,900,000.00

l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd ?= s}lkmot

1 s[lif tyf kz'kfng sfo[qmd j8f g+=^ 650,000.00

650,000.00

1 :jf:Yo rf}sL kmlg{r/ j8f g+=^ 100,000.00

2 v]ns'b d}bfg lgdf{0f j8f g+=^ 500,000.00

3 dlxnf ;xsf/L ejg lgdf{0f j8f g+=^ 400,000.00

4
hghflt,blnt,h]i7gfu/Ls ckf+u
;Ddfg sfo{qmd j8f g+=^ 150,000.00

s_cfly{s ljsf; tkm{

s_ hDdf

v_;fdflhs ljsf; tkm{

ª_;+:yfut ljsf; tyf ;]jf k|jfx

ª_ hDdf

s_±v_±u_±3_±ª_s'n hDdf

pdfs'08 ufpFkflnsf
ljlQo ;dfgLs/0f cg'bfg tkm{sf @)&$.&% sf] of]hgf tyf sfo{qmd

j8f g+=^

u_ hDdf

3_jftfj/0f tyf ljkb Joj:yfkg tkm{

 3_ hDdf

4
hghflt,blnt,h]i7gfu/Ls ckf+u
;Ddfg sfo{qmd j8f g+=^ 150,000.00

5 lj1fg tyf k|fljlws j8f g+=^ 20,000.00
1,170,000.00

1 ;"rgf k|jfx j8f g+=^ 30,000.00

2 lzIfftkm{ ejg lgdf{0f tyf kmlg{r/ j8f g+=^ 1,000,000.00
3 ;r]tgf ejg lgdf{0f j8f g+=^ 250,000.00
4 j8f sfof{no ejg lgdf{0f j8f g+=^ 700,000.00

5
s}]n]Zj/ dxfb]j vf]nf lnv' PkmPd
;8s dd{t j8f g+=^ 100,000.00

6 sfnf]rf}tf/f nfkl;+u] lk|tL ;8s j8f g+=^ 300,000.00

7
sfnf] rf}tf/f af;] d'nkfgL
dfO{qmfxfO{8«f] :jf:Yo rf}sL ;8s j8f g+=^ 300,000.00

8 leQ/L vfg]kfgL lgdf{0f j8f g+=^ 300,000.00

 v_hDdf

u_k"jf{wf/ ljsf; tkm{



9 uf]n]8f8f+ xn];L ;8s ddt{ j8f g+=^ 100,000.00

3,080,000.00

0

0

4,900,000.00

l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd ?= s}lkmot

0

1 7Lª\u]Zj/ lgdflj kmlg{r/ j8f g+=& 200,000.00

2 sf:y]d df=lj= v]nd}bfg / kmlg{r/ j8f g+=& 250,000.00

3 s]nfz klt k|f=lj= ejg dd{t j8f g+=& 50,000.00

4 led]Zj/ k|f=lj= ejg dd{t j8f g+=& 100,000.00

ljlQo ;dfgLs/0f cg'bfg tkm{sf @)&$.&% sf] of]hgf tyf sfo{qmd

j8f g+=&

s_cfly{s ljsf; tkm{

s_ hDdf

v_;fdflhs ljsf; tkm{

3_jftfj/0f tyf ljkb Joj:yfkg tkm{

 \3_ hDdf
ª_;+:yfut ljsf; tyf ;]jf k|jfx

ª_ hDdf

s_±v_±u_±3_±ª__ s'n hDdf

pdfs'08 ufpFkflnsf

u_ hDdf

4 led]Zj/ k|f=lj= ejg dd{t j8f g+=& 100,000.00

5

dlxnf clwsf/ ;DaGwL hgr]tgf
tflnd sfo{qmd j8f g+=& 150,000.00

6
blnt df};ld tyf j]df};dL t/sf/L
v]lt ;+rfng j8f g+=& 150,000.00

7
h]i7 gfu/Ls ckf+u 5gf]6 u/L
;Ddfg sfo{qmd j8f g+=& 50,000.00

8
hghflt,cNk;+Vos nf]s;]jf cfof]u
sIff ;+rfng j8f g+=& 150,000.00

9 lnv'e'hL o'jf sNj v]nd}bfg dd{t j8f g+=& 200,000.00
10 :jf:Yo rf}sL kmlg{r/ dd{t j8f g+=& 100,000.00

11
k|;'lt dlxnfnfO{ Gofgf] emf]nf
sfo{qmd j8f g+=& 50,000.00

12 j8f g+=& leq vfg]kfgL dd{t of]hgf j8f g+=& 200,000.00
13 dlxnf :j+o;]ljsf k|f]T;fxg eQf j8f g+=& 150,000.00



1,800,000.00

1 j8f sfof{no ejg lgdf{0f j8f g+=& 1,500,000.00
2 ;r]tgf kmlg{r/ Joj:yfkg j8f g+=& 100,000.00
3 s[ifL ;DaGwL cled'vLs/0f tflnd j8f g+=& 100,000.00

4 sf]n8f8f+ le/vs{ 6\ofs cf]kg ;8s j8f g+=& 1,000,000.00

5
sf]n8f8f+ l7Ds]k'n,lkkn8f8f+ ;8s
lg/Gt/ j8f g+=& 100,000.00

6 u}of s[lif l;rfO{ dd{t j8f g+=& 50,000.00
7 e'hLvf]nf l;+rfO{ dd{t j8f g+=& 50,000.00
8 ;NofgL l;rfO{ dd{t j8f g+=& 50,000.00
9 lvk'{ dxL/tL l;rfO{ dd{t j8f g+=& 50,000.00
10 n:;' vf]nf l;+rfO{ dd{t j8f g+=& 50,000.00

3,050,000.00

1 ljkt Joj:yfkg j8f g+=& 100,000.00
2 x]nLKof8 lgdf{0f j8f g+=& 50,000.00

150,000.00

u_k"jf{wf/ ljsf; tkm{

u_ hDdf

3_jftfj/0f tyf ljkb Joj:yfkg tkm{

 3_ hDdf
ª_;+:yfut ljsf; tyf ;]jf k|jfx

ª_ hDdf

v_hDdf

-

5,000,000.00

l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd s}lkmot
1 sfnf] rf}tf/f e'hL ;8s :tf]/GgtL j8f g+= & 4,500,000.00
2 leQ/L u'Kt]Zj/ ;8s :tf]/GgtL j8f g+=^ 3,500,000.00
3 sfnf] rf}tf/f und ;8s :tf]/GgtL j8f g+=$ 4,500,000.00
4 und Rofbn' ;8s :tf]/GgtL j8f g+=$ 4,000,000.00
5 Rofbn' 8f+8f+vs{ ;]t'wf/f ;8s :tf]/GgtLj8f g+= % 3,500,000.00
6 chd8f8f+ b]vL afDtL ;8s :tf]/GgtL 4,500,000.00
7 chd8f8f+ b]vL s'j'sf:ynL ;8s :tf]/GgtL 2,500,000.00
8  u'Db]n afDtL ;8s lgdf{0f 4,500,000.00

31,500,000.00

s_±v_±u_±3_±ª_s'n hDdf

pdfs'08 ufpFkflnsf

ljlQo ;dfgLs/0f cg'bfg tkm{sf ;8s of]hgf tyf sfo{qmd

s_ hDdf

ª_;+:yfut ljsf; tyf ;]jf k|jfx

ª_ hDdf



l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd s}lkmot

1

e'hL,u'Kt]Zj/,lk|lt $ / %,
s'j''sf:ynL, afDtL / u'Db]n hf]8\g]
dWodfuL{ ;8s lgdf{0f

uf=kf=If]q leq
7,000,000.00
7,000,000.00

l;=g+= of]hgfsf] gfd :yfg ljlgof]lht /sd s}lkmot
1 s[ifL ,:jf:Yo / kz' sfo{qmd uf=kf=If]q leq 77,696,000.00

77,696,000.00

s_ hDdf

pdfs'08 ufpFkflnsf

zzt{ cg'bfg tkm{sf lzIff,:jf:Yo / s[lif  sfo{qmd

s_ hDdf

pdfs'08 ufpFkflnsf

ljlQo ;dfgLs/0f cg'bfg tkm{sf ;8s of]hgf tyf sfo{qmd


